1. What are the three factors or variables used to calculate the optimal sample size (n)?  How does each of these factors raise or lower the sample size needed in a research project? Why do we not use population size (N) in the formula, in other words does a larger population require a larger sample? 
The sample size formula is given as n 
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The three factors that influence the sample size are (i) the population standard deviation , the level of significance , and the error term (d). Because , a larger population standard deviation would entail a larger sample size. Besides, even though appears in the numerator for the expression for n, we know that z decreases with increasing . So a larger significance level would require a smaller sample size. The error term, d, appears in the denominator, so it is inversely related to n. If d is larger, n is smaller and vice-versa. Population in statistics is considered to be infinitely large, so the term N (population size), can theoretically not be used in calculations for sample size. 
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